TASK-2
]In many countries, the number of animals and plants is declining. Mlhy do you
think this is happening? How can this issue be solved?

Because many children are not able to learn foreign languages, schools should not
force them to learn foreign languages.
To what extent do you agree or disagree?

Intro” In my opinion, although there are good reasons for cognitive development
for_students to learn a language overall it is a negative because of the extra
schoolwork.

schools should

schools should not

Concl: In my opinion, although there are good reasons for cognitive development
for _students to learn a language overall it is a negative because of the extra
schoolwork.

]Nowadays, there is a decreasing tendency ef-in terms of the number of animals and

plants in many nations. In my opinion, the major cause is human activities-activity
which does harm to the environment Mand governments have the ability to solve

itthese issues,|

due to human industry and consumptlon\.—%s—we—au—kn% hhe global _human

population increases yearly and this brings—a-threatens to-the natural environment.
Beeause-in order to satisfy theirincreased living requirements, Me—lhumanitv need-te
oceupy-seme must utilize natural places-land to build houses which will deprive the
habitats-of the-animals>and-plants> various plant and animal species of their natural
habitats. BesidesSimilarly, with the development of the consumer economy, the
expansion of factories is becoming more and more common. Fhe-expansien—might
destroy-theirHving-hemes—tooThis expansion not only requires more land but also -
ALse—seme—destHes—Fela{ed—te—ehem&Fy—er— can result in exeesave—ha#mfu#gases
emisston-land, water, and air pollutionlead-atet-ef-damage-to-thenatural-Hves,

Fertuna&ely,—theplant and animal conservationpreblem can be tackled by governments.
It is necessary for governments to enact bem‘—relevant laws associated with the
protection of jaatural-Hivesanimal and plant life land the limitation of harmful gases
emissions. [For example, China has been rapidly industrializing over the last several
decades and corporations were allowed to cut down forests and build factories. The
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result was that many animals and plants were pushed to the brink of extinction and the
Chinese government began implementing laws to limit the number of factories and

their_emission totals| —Fhere—istro—doubtthat—not—alfactories—are—aware—of the
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expeected-results: Additionally, governments are-alse-suppesedhave a responsibility to

advocate er-suppert-the construction of tall-buildings, which take up only a fraction of

the space, but—yet they—can accommodate a—lot—of peoplefar more residents.
Governments could do this by legislating tax breaks for companies that build large

apartment complexes. Fherefore-the natural live’s habitats-will beretained-

]Human activities is-are the chief culprit te-behind the declineing of animals and plants.

However, this phenomenon can be keased\ if reasonable measures are taken by the

governments.
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Task achievement: 7
Cohesion/Coherence: 6/7
\Vocabulary: 7

Grammar: 6/7

Overall: 6.5/7

6777 =6.5

1. work on writing more specific examples and developing your ideas a little
better

2. don’t use so much informal vocabulary

3. try to clean up some minor grammar mistakes

14, use formal linking phrases and improve your topic sentences
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